C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 56+2= 2) 25-7=
- 1.
2
3
3 31+4= 4) 960+8 = 4,
5.
6.
7.
5 60+2 = 6) 792+6=
8.
0.
10.
7) 30+5= 8) 765+9=
E— —_— 11.
12.
9 812+8= 10) 663+6 =
11) 577+2= 12) 46+2 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 56+2= 28 2) 25:7= 3r4 28
1.
2. 3r4
3. 7r3
3 31+4= 713 4) 960+8 = 4. 120
5. 30
6. 132
7. 6r2
5 60:2= 30 6) 792+6 =
8 85
0. 101r4
10. 110r3
) 32+5= 612 8) 765+9 = " 28811
12, 23
9 812+8=_101r4 10) 663+6=_110r3
11) 577+2= 288rl 12) 46+2=_ 23
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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